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H & ol & AFS B M M
221E T 2ola FRFTBLIALSH
i 200 KIS
B 210 ANEH LS
g 211 A4 (S5l ® 2
Zop-g-8 0o sty rELV LT HimE=+T
ES A 317,637 301,977 15,660
200 MI2l==g 58,480 59,300 A 820
210 FAE N9l 2,480 3,300 A820
211 Mat == 480 800 A 320
211-02 BRMLAH2 480 800 A320
< HMIEL > 480 800 AN 320
O2Xl EASEHINEY dUH= 160,000& x3= 480
216 Ol Xh==2& 2,000 2,500 A500
216-01 3200l A== 2,000 2,500 A500
< M IS > 2,000 2,500 A500
CEE NPT 2,000, 0002141 2,000
220 AN L= 6,000 6,000 0
225 AHAE ¢ 6,000 6,000 0
205-01 XIhoA 4l 6,000 6,000 0
<OHDED > 6,000 6,000 0
OZYEI B2 6,000, 0002141 6,000
230 NLHEZMM - 203 50,000 50,000 0
234 BENE 50,000 50,000 0
234-02 JIEFTHEH2 50,000 50,000 0
<OHDED > 50,000 50,000 0
OSYF=3X M= 50,000,000& *14] 50,000
700 BEM=USLIHEHcH 259,157 242,677 16,480
710 B82S 208,985 200,782 8,203
A== 208,985 200,782 8,203
711-01 =NAL S 208,985 200,782 8,203
<OHDED > 208,985 200,782 8,203
CEP N 208,985, 00024 208,985
720 LHS 1 cH 50,172 41,895 8,277
21 8= 50,172 41,895 8,277
721-03 JIELEIHE Y2 50,172 41,89 8,277
<OHDED > 50,172 41,89 8,277
OMAH DHHIS (7 SAHL) 501,724, 00024+ 10% 50,172
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H & Ol & At &

2021 = 204 =XHE2AALELE S

g Al

% = o= &
SN ZH - S(S) - MRAY - BAS S dImEET
OtM WSt 317,637 301,977 15,660
ME=S= ] Fal 317,637 301,977 15,660
FAE 2e(FIHEZIMSSSSIAH) 317,637 301,977 15,660
FiE2e 2 201,160 40,960 160,200
201 Let2dy| 17,560 17,360 200
01 At 2teltl 10,760 10,560 200
oget=ZH| 4,000,000& 14! 4,000
OBEFXH(HEA) HEZ 5,000,000 *14] 5,000
OF IS UENE AT SN2 2K
2 1,760,000 14 1,760
02 23224l 6,800 6,800 0
OSX=FIE B232= E MAl
400,000 x12& 4,800
OA&ZHls Xt 2,000,000& 14! 2,000
202 04l 3,600 3,600 0
01 = LHGYI 3,600 3,600 0
O=FXHERA ol 150,000 22! x12& 3,600
207 & 20 Y| 20,000 0 20,000
01 A7 E | 20,000 0 20,000
OUYT FAH +ZAUH TAISY
20,000,000 14! 20,000
401 A& HI YL 20| 160,000 20,000 140,000
01 Al&HI 160,000 20,000 140,000
O=FXE |2 140,000, 000& * 14! 140,000
O=sd=xt &XAld &X 20,000,000 14! 20,000
FoI=dt0et 23 104,320 37,640 66,680
201 LetEdy| 24,320 17,640 6,680
01 At 22|l 4,600 4,600 0
OO0CRLXIA M= (SH=EX)
3,600,000& 14l 3,600
O=gY=dX &5 SE2= MA bl
1,000,000 14! 1,000
02 2322l 19,720 13,040 6,680
O=ReHEJtet 2322 2 HMAl
810,000& x12& 9,720
O HEJt0et AIZEBIRXILI
10,000, 000& » 14! 10,000
401 Al HI L2 0HHI 80,000 20,000 60,000
01 Al&HI 80,000 20,000 60,000
OSoIeEItiet WX ¥ &X
40,000, 000& *2H 2~ 80,000
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2AM: NS
M WESEd oo
o =S (=X 2ACIAISEESIH) (S &SH)
. - . &
SH B G(EA) - HRAY - BES 04l &k o4 S HlE2
oibldl (X2l S8 35 ) 12,157 223,377 A211,220
801 Gildl bl 12,157 223,377 A211,220
01 etollgl gl 12,157 223,377 A211,220
oolglbl 12,157,000& 14! 12,157
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